More practice problems
1. The sum of three integers is 189. The first integer is 28 less than the second. The second integer is 21 less than the sum of the first and third integers. Find the three integers.
1. In the school cafeteria, Mike purchased a cookie, two chicken fingers, and a can of Pepsi for $4.30. Jennifer purchased three cookies, one chicken finger, and two cans of Pepsi for $5.30. Scott purchased two cookies, one chicken finger, and two cans of Pepsi for $4.55. What is the individual price of each item?
1. Alex has a phone plan that charges him a different rate for calls within Canada, for calls to the US, and for calls to Europe. Last month, his phone bill was $11.40. He talked for 45 minutes within Canada, 8 minutes for calls to the US, and 22 minutes for calls to Europe. The rate for calls to Europe is twice that for calls to the US. Calls within Canada are 7¢ per minute less than class to the US. Find the three rates for this plan.
1. The sum of the length and width of a box is 80cm. The length is 10cm less than twice the sum of the width and the height. Twice the width exceeds the height by 6cm. Find the length, width, and height of the box.
1. A pen and a pencil cost $0.30, two pencils and an eraser cost $0.39, and a pencil, an eraser, and two pens cost $0.63. How much is each item?
1. Sarah has three parrots: Frank, Bob, and Steve. Steve is three times older than Bob. Frank is twice the combined ages of Bob and Steve. The sum of their ages is 72. How old are Sarah’s parrots?
1. The sum of the angles of a triangle is 180. Angle B is twice as large as angle A, and angle C is 12 less than the sum of the other two angles. Find the measure of each angle. 
1. On Monday, Bob paid $7.20 for 3 coffees, 2 donuts, and 6 cookies. On Tuesday, he paid $7.80 for 4 coffees, 4 donuts, and 1 cookie. On Wednesday, he paid $7.70 for 2 coffees, 2 donuts, and 10 cookies. What is the individual price for a coffee, a donut, and a cookie? What would he pay for 1 coffee, 1 donut, and 1 cookie?
1. Mary has 16 coins in her purse consisting of nickels, dimes, and quarters for a total of $2.15. The number of nickels is 8 less than the number of dimes and quarters combined. How many of each coin are there?
1. The sum of the angles of a triangle is 180. Angle A is twice as large as angle B. Angle A is 5 less than angle C. Find the three angles.
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1. The sum of three integers is 189. The first integer is 28 less than the second. The second integer is 21 less than the sum of the first and third integers. Find the three integers.
2. In the school cafeteria, Mike purchased a cookie, two chicken fingers, and a can of Pepsi for $4.30. Jennifer purchased three cookies, one chicken finger, and two cans of Pepsi for $5.30. Scott purchased two cookies, one chicken finger, and two cans of Pepsi for $4.55. What is the individual price of each item?
3. Alex has a phone plan that charges him a different rate for calls within Canada, for calls to the US, and for calls to Europe. Last month, his phone bill was $11.40. He talked for 45 minutes within Canada, 8 minutes for calls to the US, and 22 minutes for calls to Europe. The rate for calls to Europe is twice that for calls to the US. Calls within Canada are 7¢ per minute less than class to the US. Find the three rates for this plan.
4. The sum of the length and width of a box is 80cm. The length is 10cm less than twice the sum of the width and the height. Twice the width exceeds the height by 6cm. Find the length, width, and height of the box.
5. A pen and a pencil cost $0.30, two pencils and an eraser cost $0.39, and a pencil, an eraser, and two pens cost $0.63. How much is each item?
6. Sarah has three parrots: Frank, Bob, and Steve. Steve is three times older than Bob. Frank is twice the combined ages of Bob and Steve. The sum of their ages is 72. How old are Sarah’s parrots?
7. The sum of the angles of a triangle is 180. Angle B is twice as large as angle A, and angle C is 12 less than the sum of the other two angles. Find the measure of each angle. 
8. On Monday, Bob paid $7.20 for 3 coffees, 2 donuts, and 6 cookies. On Tuesday, he paid $7.80 for 4 coffees, 4 donuts, and 1 cookie. On Wednesday, he paid $7.70 for 2 coffees, 2 donuts, and 10 cookies. What is the individual price for a coffee, a donut, and a cookie? What would he pay for 1 coffee, 1 donut, and 1 cookie?
9. Mary has 16 coins in her purse consisting of nickels, dimes, and quarters for a total of $2.15. The number of nickels is 8 less than the number of dimes and quarters combined. How many of each coin are there?
10. [bookmark: _GoBack]The sum of the angles of a triangle is 180. Angle A is twice as large as angle B. Angle A is 5 less than angle C. Find the three angles.

